
EC4041 Development Economics

Problem set 3

Question 1 (Ray (1998), chapter 12)

1. Show that in an economy with extensive possibilities for perfect crop in-
surance, �xed-rent tenancy must be dominant irrespective of whether po-
tential tenants are risk-averse or risk-neutral

2. Show that in an economy where risk is a major factor, where tenants are
risk-averse, and where the inputs of the tenant can be costlessly monitored
by the landlord (and veri�ed in court), sharecropping will be preferred to
�xed-rent tenancy.

3. In this question, why did we add the extra-quili�cation that inputs can
be veri�able? what happens if we drop this assumption?

Question 2 (Ray (1998), chapter 12)

It is not uncommon to observe that in sharecropping contractys with cost shar-
ing, the cost share borne by the tenant is equal to the output share accruing to
him. Explain why this might be the case.

Question 3

Comment on table 5 from the paper by Collier and Hoe­ er (2004) "Greed and
Grievance in Civil War".

Question 4

Comment on the following tables, taken from the paper by Miguel, Satyanah
and Sergenti (2004) "Economic Shocks and Civil Con�ict: An Instrumental
Variables Approach".
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